R 26F BT FKLEBSHRKKEREHZRETY)

HERIER B HOKER |Bfigtto 42— | BRET/KLES| A& TKOES| ER TKOEE | R2)etr 54— AP #E 49— L2 Rt 52—
B (°Cc) — 19.8 185 18.0 17.0 16.7 14.8 19.0
KR (°c) — 20.8 20.3 22.5 20.5 20.6 19.1 18.6
p H (mg.” 1) 5.8~8.6 6.7 6.8 6.9 6.9 7.0 6.4 6.8
BOD (mg./ 1) 15 1.6 44 53 24 6.5 5.1 2.3
COD (mg./ 1) 30 6.6 95 105 75 8.8 12.1 7.7
SS (mg.” 1) 40 1.4 3.0 6.0 25 33 4.0 13
ANESUMHBE (SRYEE) (mg./ 1) 5| #H TRRAER | #RHE TRIERS | R TRIERS | R TRER | R TRIERS| R TRIERS 05
AXYUMEE (EMEYRAEE) | (e 1) 30[ #RtE TFRRIESR | At FERIESR 4 | #H FRRMESR S | #RH TIRIERMS | R TRIERMS | BE TRIERR 05
Jx/—)LEE (mg./ 1) 5| #H T RRAER | #RHE TRIERS | R TRIERS | R TRER | R TRIERS| R TRIERS 0.1
big] (mg.” 1) 3| #& T IRRIER 0.0 0.01 0.0 | #&HE FIRIEXRH 0.02 0.01
i) (mg./ 1) 2 0.09 0.05 0.05 0.04 0.07 0.04 0.03
% (mg./ 1) 10 0.05 0.04 0.02 0.04 | B TRIERS 0.11 0.05
AT (mg./ 1) 10 0.02 | B FRRIER# | St TIRIERH 0.0 | #RH FRRIER S 0.03 0.02
P=PN (mg./ 1) 2 0.02 | B FRRIER# | Mt FIRIESRS | & H TRIEXRS | RE FRIERMS | BE TRIERR 0.02
AEEHK B/ m1) 3000 712 11 4 192 620 503 8.0
WEHR (mg.” 1) 20 479 5.23 470 459 40 14.00 14.2
W (mg.” 1) 25 1.13 0.9 0.78 0.98 1.0 1.60 1.3
HEIHL (mg./ 1) 0.1| Bt FRRIER 7 | #t FIRIESRS | #H TRIERS | R TRIERMS | B TRIERS| Hd FRIERS 0.01
SToAF Y (mg./ 1) 1| B FRRIER | it TRIERS | R TRIERRS | B FRIERS | M TRIERS | R TRIERS 0.1
) LEY (mg./ 1) 1| B TRRIER | L FIRIESRS | & TRIERS | R TRIERMS | BE TRIERS | Hd FRIERS 0.1
£n (mg./ 1) 0.1| #H FRRIE AR | ARt TIRESR | MR FIRIERRS | B FRIER | M TRIERS | R TRIERS 0.01
AN AP (mg 1) 0.5| Bt TRRIER 4 | #t FIRIESRS | #H TRIERS | R TRIERMS | B TRIERS| Hd TRIERS 0.05
Ex (mg./ 1) 0.1| #H FRRIEAR | ARt TIRESR | MR FRRIERRS | B FRIEXR | M TRIERS | R TRIERS 0.01
7K ER (mg./ 1) 0.005 | £t FER{ER 7 | # s FRRMES S | #H FRIERM | RE TRIERMN | B TRIERS | Hd FTRIERS 0.0005
7 ILXILIKER (mg/ 1) |Bmshince TR TR TR TR TR TR TR
PCB (mg./ 1) 0.003 | #&tH FRR{E SR | #H FRRIESRS | #RH FIRIERD | R TRIERM | B TRIER | Hd FRIERS 0.0005
rysopIFLY (mg” 1) 0.3| #H TERER | 4 TIRIERS | 4R TIRIERS | #&HE FIRIERS | #&H FIRIERE | @ TRIEXRS 0.03
FrSHYO0OTIFLY (mg./ 1) 0.1| Bt TRRIER 4 | #H FIRIESRS | #H TRIERDS | R TRIERMS | BE TRIER | Hd TRIERS 0.01
PAZA=N=P (mg” 1) 0.2| #H TERER | 4 TIRIERS | 4R TIRIERS | #&H FIRIERS | #&H FIRIERE | @ TRIEXRH 0.02
i ib iR & (mg./ 1) 0.02| & H FIRIE R | #RE TRIERMS | B TRIER | B TRIERS | HH TRIERS| R TRIERS 0.002
1-2—24900I3Y (mg” 1) 0.04| #&HH FERIESR | #& 0 T RRIER [ #8 0 T RRIER | 40 TRIER G | 4 H TRIERS | R H TRIERS 0.004
1-1-Y/p0O0xIFLY (mg./ 1) 1| B TRRIER | #t FIRIESRS | #H TIRIERD | R TRIERMS | B TRIERS | Hd TRIERS 0.02
YZR—1-2—HOAITFLY| (/1) 0.4| #H TERIERT | 4 TIRIERS | 4R TIRIERS | #&HE FIRIERS | #&E FIRIERE | @ TRIEXRS 0.04
1-1-1—Fkysooxzay | (e 1) 3| HH TIRME R | B TIRAERS | B TIRIERM | Bt TIRIER | &H TRIERS| R TRIEXRS 0.3
1-1-2—k)yOoO0xTia> (mg” 1) 0.06| #&HH FERIESRH | &0 T RRIER [ 80 T BRIESR | # 0 T RIER G | 40 TRIERS | R H T RIERS 0.006
1-3=yspnJOoRy (mg./ 1) 0.02| & H FIRIER | #RE TRIERMS | B TRIER | B TRIERS | HH TRIERS| R TRIEXRS 0.002
FOT LA (mg/ 1) 0.06| #&HH FERIESR | #&H TIRIESR [ # 0 T RRIER | # 0 TRIER G | #H TRIEXRS | R TRIEXRS 0.006
PESY (mg.” 1) 0.03| & H FIRIE R | #RE TRIERS | B TRIER | Bt TRIER | R TRIERS| R TRIERS 0.003
FARANLT (mg/ 1) 0.2| B TERIERS | R TIRIER | R TRRIERS | & TRIERS | #E FIRIEXRE | #E TRIEXRS 0.02
RoEY (mg.” 1) 0.1| Rt TRRIER 4 | #t FIRIESRS | #RH TRIERM | R TRIERS | HRE TRIER | Hd FTRIERS 0.01
Ly (mg/ 1) 0.1| B FERERS | R FIRIER | R TIRIERS | 2 FRIERS | #&E FIRIEXRE | #E TRIEXRH 0.01
ROREEY (mg.” 1) 10| & H FIRER | B TRIERS | R TRIERM | % TRERE 0.13 | BB FIRIER 0.1
JvRIEEY (mg/ 1) 8| HH T IRIESR 6 | #RH T IRIESRS | HRH T RRIERS | R TRRIERE 0.10 | R TRRIERE 0.1
1-4—-FFH0 (mg.” 1) 0.5| Bt TRRIER 4 | #t FIRIESRS | #H TIRIERS | R TRIERS | BRE TRIER | Hd FRIERS 0.05
FUEZYLELLEY (mg.” 1) 100 3.40 3.30 3.10 3.30 2.00 11.10 12.3




